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 الأكاديمية الجهوية للتربية والتكوين
سطاتلجهة الدار البيضاء  

 

دالما الرياضيات

 :ةة

 ϣтвтЯЦшϜ ϣтϼтϸвЮϜ: 

ϣжмтϸв 

  

АтЧжϦЮϜ аЯЂ 

                   I ï Ϟϝ̮̮ЂϲЮϜ м ϸϜϸ̮КцϜ  )16 ϣАЧж( 

2,5 мϒ л        м  ( ϞтϦϼϦЮϜсЮϾϝжϦЮϜ :    >      >      0,66          >  0,88   >                                           

                 

мΣр  +мΣр     н (ИмвϮвЮϜ  :1487,46            ФϼУЮϜ  :             478,34 

м  +м  +м    3  (ϜФϼУЮϜ    :       ИмвϮвЮϜ    :     ̭ϜϸϮЮϜ   : 

 

      2            п  (̭ϜϸϮЮϜ      :566,283        

5               2        ( АмϠЎвЮϜ Ϭϼϝ϶ЮϜ: 8,05  

                   с  ( ϣЮϓЂвЮϜ: 

      1,5                 *ϣтмжЂЮϜ ϢϸϚϝУЮϜ:6000 x 12/30 = 2400dh                                   

    2                  *НЯϠвЮϜ                             :2400 x 100/8 = 30000 dh                 

                        

                             II - ϣЂϸжлЮϜ  )11 АЧжϣ( 

     2,5               т  ( ϓА϶ЮϜ Євϝк ЬмϠЦ Йв ϝϲтϲЊ ϝвЂϼ ϣтмϜϾЮϜ аЂϼ + мϒ- н ϣϮϼϸ. 

8                  3      (ϤϝЂϝтЧЮϜ аϜϼϦϲϜ Йв ϝϲтϲЊ ̭ϝІжϖ ЬЪІЮϜ ̭ϝІжϖ. 

    2,5            ф (ϝϲтϲЊ ̭ϝІжϖ ЬЪІЮϜ ЬϪϝвв ̭ϝІжϖ. 

                   мл  ( ϣЮϓЂвЮϜ: 

*             0,5+0,5      ИϝУϦϼъϜ ЀϝтЦ:   28 x 1/8 =3,5 m                         

*               1          ϣЛАЧЮϜ ϣϲϝЂв:  28 x 3,5 = 98 m2                                   

        м           *  ϤъϺϠЮϜ ϸϸК  :            98 :1,75= 56                                        
              

                      III - ЀϝтЧЮϜ  )мо ϣАЧж( 

    2             мм  (985,98 m   

    н             мн  (61,275 q     

    о             мо  (1683,94 ca 

    о             мп  (65,8589 m3 

                        мр  ( ϣЮϓЂвЮϜ: 

                0,5  *ИϝЛІЮϜ: = 1,5 m                                                                   3 : 2  

   1,5              * аϮϲдϜϾ϶ЮϜ :  1,5 x 1,5 x 3,14 x 7,2= 50,868 m3                                                             

1                   * сЧϠϦвЮϜ ̭ϝвЮϜ аϮϲ:       m3                                33,912  50,868 x2/3=  

 ϜϺϖ ϣАЧжЮϜ РЊж ϱжвϦ ϝвЪ .ЬϲЮϜ пЮϖ рϸϔϦ ϣϲтϲЊ оϼ϶ϒ ϣЧтϼА ЬЪ ЬϠЧϦ Ь̪ϚϝЂвЯЮ ϣϠЂжЮϝϠ : ϣДϲыв        д  пл  : а 

                                   сТ  ϱІϼвЮϜ ϓА϶ϒ ϜϣвтЯЂ ϝлЛϠϦϜ сϦЮϜ ϣЧтϼАЮϜ ϤжϝЪ м ϤϝϠϝЂϲЮ         .  


